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GENEL ACIKLAMALAR

1) Bu sinav kitapgiginda 80 soru bulunmaktadir. Bu sorulari
cevaplamak igin size verilen toplam siire 120 dakikadir.

2) Bu testteki her sorunun bir tek dogru cevabi vardir. Bir soru
icin birden ¢ok cevap vyeri isaretlenmisse, o soru yanlis
cevaplanmis sayilacaktir.

3) Cevaplarinizi koyu siyah ve yumusak bir kursun kalemle size
verilen cevap kagidina isaretleyiniz. isaretlerinizi cevap yerinin
disina tasirmayiniz. Tikenmez kalem veya dolma kalem
kullanmayiniz.

4) Degistirmek istediginiz bir cevabi, yumusak bir silgiyle, c
kagidini  6rselemeden, temizce siliniz ve yeni cevabi
isaretlemeyi unutmayiniz.

5) Cevap kagidinizi burusturmayiniz, katlamayiniz vi
gereksiz higbir isaret koymayiniz.

6) Istediginiz sorudan cevaplamaya aslaya
Cevaplariniz isaretlerken soru kitapgiginda
ile cevap kagidindaki cevap numar ayni ol
ediniz.

7) Butin sorulari cevaplamaya
sayisi dogru cevaplarinizin g

8) Sinavin basinda KTUYO

a dikkat

lis cevaplarinizin
ecektir.

sinav salon
9) CEP TELEFONU i g kesinlikle yasaktir. GCagri
e araglari ile cep bilgisayari, saat
onu bulunan saat vb. her tirli
lunan cihazlarla ve ayrica silah vb.
kagidi, defter, kitap, hesap makinesi,
|, vb. araglarla da sinava girmek yasaktir.
la sinava girmis adaylarin sinavlari gegersiz

1 uyulacak diger kurallar bu kitapgigin arka kapaginda
lirtifmistir.

STRUCTIONS
1) This examinati questions. You have a total
of 120 min e questions.
2) In this test, e is only one correct answer for each
questi n one answer choice is marked, this
an ically be considered wrong.

3)

black pencil to mark your answers on the

. Fill in the circle fully for your answer, but make

ot to mark beyond the borders of the circle. Please do

any kind of pen.

ou wish to change an answer, use a very soft eraser to

delete it carefully and completely. Do not forget to mark your

new answer.

Please do not fold or wrinkle your answer sheet, and do not

write any irrelevant marks on it.

6) You may answer the questions in any order you like.
However, please make sure that the number on the answer
sheet corresponds to the number of the question you are
working on in the test booklet.

7) Please try to answer all of the questions on the test. The
number of your incorrect answers will not affect the number
of your correct answers.

8) Do not forget to submit and leave your KTUYOS ENTRANCE
DOCUMENT with test officials at the beginning of the test.

9) It is strictly forbidden to bring MOBILE PHONES into the
examination hall. Also forbidden is any other kind of
electronic or communications equipment (other than
watches that only show the time), weapons, explosive
materials, scrap paper, notebooks, books, dictionaries and
related instruments, slide-rules, compasses, and the like. The
examinations of violators of these rules will be considered
invalid.

10) Additional rules concerning the administration of the test are

given at the end of the booklet.

NOT: ONDALIK KESIRLERi GOSTERMEK iCiN TURKCE METINLERDE VIiRGUL (,) KULLANILIR.
(NOTE: DECIMALS ARE INDICATED BY A COMMA (,) IN TURKISH TEXTS.)
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1.
1 1
- 273 =?
25 1
3’6 2
A) 10 B) 12 C) 15 D) 18
2.
50 0,01-0,001
225 o
A)0.001 B)O.1 C) 0.01 D) 10

E) 20

E) 100

A)2

A) -20

3
B)Z

B) -16

V0,16 — (0,4)?

30,008 — (0,2)%

C)3

C)-10

1
D)E

D) 12

E)

E) 16
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5. 7
kneZt,
4 _ (o — 11472
nZ(n_2)|_Z$k_7 (x+1)3+(: 1) =7
m+1D! kO X
A) 24 B) 35 C) 48 D) 52 E) 64 A) 1 B) 4 Q)6 D) 8 E) 10
6 8.
k € (=0, 2] (a,b)®(c,d) = (ad — b, bc — d)

4(2x — 1) — 3x = kx — 2 = max{x} =?
(a,b) X (c,d) = (ac + bd,ad — bc)

= [(2,3)0(1,-1)] X (0, —4) =?

A)g B) 1 C)% D)é E) A)(94) B)(-73) €)(8-2) D)(36) E)(-16.20)
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9.
(a+b)2—ab )
a-b=4=>—rm 35 =
1 1 1
A) 4 B); C)2 D)2 E);
10.
x_2
y 71 v,
x_6 z
z 11
1 3 17 21 29
AN\— B> 0O D= §F=
11 11 11 11 11

11.

A) 10

12,

A)8

KLM
LKM = K+L+M="
+ MLK
1K2K
B) 11 C) 12 D) 13 E) 14
f(x) =x2—8x+a\
|
£(c) = f(d) =0 }:az?
1.1 2 J
cTa"3
B) 10 C) 12 D) 14 E) 16
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13.
x,y,z € L*
x2y-z=5% }=>x+y+z=?
x-y%-z3=5"*
A) 31 B) 61 c) 81 D) 121
14.
[b—q|
a<0<b = =7
|b+|a||
AJa  B)b=a € |b+a| D)a-2b

E) 131

E) 1

15.

a—b=3

ac+b =18 } = c =?

bc+a=6
A)5 B) 6 Q)7 D) 8 E)9
16.

nezZt,a>1
A, ={xeR|(-D)"'n<x<n-a}
Az ﬂA3 = (2,5)
= Ag =7

A) (6,15) B) (6,18) C) (-6,10)
D) (-6,12) E) (-6,20)
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17. 19.
P(x)=ax+b 3
0(x) = cx _|_9 2sin®x + cos?x = = = cos2x =?
3 5
*=b =?
P(x) =Q(x)-B(x) +18
5a =9c
A) 15 B) 25 C) 45 D) 60 E) 70 A)Z B)§ C)% D)3 E) g
18. 20.
f:R->R n
X € (0,4)
x% — 4, x<a a =sinx
f(x) ={bx—8, a<x<b+2
(x—2)%, b+2<x b = cos x
2a + 3 =
Vx € R 1im f(x) = f(c) = D |=7 ¢ = cotx
X—C
Yukarida verilenlere gére, asagidakilerden hangisi dogrudur?
Which of the following is correct according to given above?
A): B) 2 2 D) E) AJa<b<c Bla<c<bh Qb<a<c
D)b<c<a E)c<a<b




KTUYOS

21.
f:R — R surekli fonksiyon olmak Uzere,

Let f: R — R be a continuous function.

P+ f))f (@)dx =8
f(0)=-1

= max{f(3)} =?

A) —4 B)—1 )0 D) 3 E) 6

22,

= S=7?
f(x)=9-x*

TN

Yukaridaki sekle gore, boyal bolgenin‘alani kagtir?

What is the area of the shaded region according to the figure
above?

15

A)2 B)% Q= D) 4 E)6

23,
log;5=x = log,45="
A) x B) 2x 03 D)2 . F) "le
24,
y
1 P(x) = a + by +ex+d
/{\I\J ' X
d?*p
- = p =7
— W) =P"(1) =
A) 18 B) 16 C) 14 D) 12 E) 10
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25. 26.
zZ,w € C,
z—w=3—6i( = Re(z) =?
z+w=7+6i
mx+4, x>1
f(x)=1,
X +2m,x<l1
A)1 B) 2 Q)3 D) 4 E)S
f(x) fonksiyonunun x=1 noktasinda limiti olduguna
gore mkactir?
According to the function f(x) has a limit at the
point x=1, what is the value of m?
27.
[1 a] -3 2 1]:[1 2 —1]
3 41lp 0 -1 -1 6 -1
a+b=?
A)3 B) 2 C) 1 D)0 E)-1 A)1 B) 2 Q)3 D) 4 E) 5




KTUYOS

28.
1
1in_1(3X+2x+5):?
A)2 B) 3 Q)6 D) 4 E)5
29.
y
2
_1/ o 1\/2 X
f
fQ)+(fof )(2) =7
A) 4 B) 3 )2 D) 1 E) 0

30.

fx)=(x=1y.2x~1t) ve f(0)=4 = t=?

A) -2 B) -1 c)o D)1 E) 2

31.

cos(a + b) _
cos(h)

A) 1 B) 2 0 D) E)
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32.
dl
d,
di//d;
m+n =220
x =7
A) 45 B) 55 C) 60 D) 70 E) 95

33.

[AB]//[CD]

[AD]//[BC]

|KL| =4 cm
ILE|=5 cm = |BK|=x=?

A) 42 B)6 € 4J/5 D)9

E) 12
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34.

[DC]// [AB]

[cD| =5 cm

|AB| =11 cm

BC| = |AD| = 7 cm

cosq =7

A)1 B) C) D)

NI
SRR
Njw

E) 2

10

35.
y
C 7
D(x,y)
X
O A(k+2,0)
\
OABC bir paralelkenar
OABC is a parallelogram
[AC]~[OB]={D}
A(k+2,0)
B(k+3,3k-1)
|[BC|=7cm
D(x,y)="?
A) 3,5  B)(2,6) C) 3,8) D) (4,7)

B(k+3,3k-1)

E) (5,7)
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36. 37.
y
d
D C A
i /
B O N X
A E B k
ABCD bir dikdortgen
DE ve EC, A ve B merkezli ceyrek cemberler d:2x—-3y+4=0
DC ,E merkezli yarim cember k: 2x+y—4=0
Tarali bélgenin alani 50 cm?ise |BC| =? .
. A(ABC)="?
ABCD is a rectangle
DE and EC are the quarter circles with centered
Aand B
DC is a semi — circle with centered E
If the area of the shaded region is 50 cm?, then |BC| =?
9 15
A)3 B)4 C)5 D)6 E) 8 A) 4 B) 5 C)6 D); E) 8

11
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38.

ABCDEF diizgiin altigen
ABCDEF regular hexagon

[KF] L [FL]
|KF| = |FL| = V6
|KB| =?

A)3-v3 B)v3-1 Q)V3 D)7

39.

KLMN kare
KLMN square

m(AB) = 120°
|AB| = 3
|KL| =?

A)V6 B)2vV3 ()5 D) 32

E) 4

40.

A) 14

12

d, d.

N

PN

diix+ay=b+3
dy:x—=((b-=1)y=b—-2

= b*—a-b=?

B)16 C)18 D) 20 E) 23
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41.

43.

Soru isareti ile gosterilen sayiyi bulunuz.

Find the number shown by the question mark.

Soru isareti ile gosterilen sayiyi bulunuz.

Find the number shown by the question mark.

A)4 B)9 C) 16 D) 25

42.

E) 36

Soru isareti ile gosterilen sayiyi bulunuz.

Find the number shown by the question mark.

8 6
30 36
40 6 72 3
A) 60 B) 42 C) 30 D) 24 E) 20

13

A 64 160 2
A) 384 B) 400 C) 360 D) 420 E) 256
44,
Soru isareti ile gosterilen sayiyi bulunuz.
Find the number shown by the question mark.
27 25
36 9
94 25
71 ?
53 4
A)4 B) 8 C) 25 D) 36 E) 52
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45.

46.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

Soru isareti ile gosterilen sayiyi bulunuz.

Find the number shown by the question mark.

B B
@

14

A) 30 B) 45 C) 55 D) 70 E) 80
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47.

48.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

N0

A) B)

Q)

D)

E)

& G (B

NI

/o]e)
N7

ch

O

i)y R & X
PRI EKYD=D0&K&=&KY »
& o pIN V/

X=?

15
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49.

Yukarida verilen seklin katlanmasiyla asagidaki kiiplerden
hangisi olusturulabilir?

Which of the following cubes can be created by folding the

given figure above?

A)

Q)

E)

;

B)

D)

16

50.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question

mark.

O | lm

E [

A) ‘ B)

L1 &

C) D)

0 K>
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51.

52.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

— =

A) \[| B)

Q) D)

E)

17

A) B)
Q) D)
E)
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53.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

A)

gLl

VI.

B L1 11111

B)

D)

18

54.

A) 33

10— 5

16 8wt 4 ey 2 w——p ]

6 —» 3

et

10=—» 5

4 —p 2 —> 1

16—+ §—> 4—b 2 —p 1

B) 26

4 —> 2 —> ]

>x+y=?

C) 19

D) 17

E) 12
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55.
Asagidaki sekilde sayilar bir kurala gore yazilmistir.

The numbers in the figure below are written according
to arule.

..
m. [ Jaaf fo]s] |
v. [al T To] TeI]

>a+b+c=?

A) 31 B) 34 C) 37 D) 40 E) 43

56.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

19

A) B)
Q) 2 D) &
E)




KTUYOS

57.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

i o o
! o 0'o
I 1
] 1
. - e _._. ?
1
------- L]
fe) : o O: o]
1 1
o o o o
A) F--d--- B) fF---A---
o ! (o] o1 o
1 1
o 1 o] (o ]] (o]
o | o © o, ©
1 1
R - R
Q) | D) X
1 [
o] 1 o O 0 o]
) o:o 5}
1
R
E) \
1
o 010 ©

58.

A * (:II}:;:(. 24073
L * (*A 75240
*(*4}: I _D 47523
**(A* 37542
‘):(”# 0 *A 27537

I. gruptaki sekiller birer rakam ile gosterilerek Il. gruptaki sayilar

elde edilmistir. Buna gore, * [I * ﬁ'}: A - ?

The numbers in group Il stand for the set of figures in group |

when each figure has been coded with a specific numeral.

Accordingly, ‘*’ [I‘* '#' A - '?

A) 20243 B) 34350 C) 75734 D)52503 E)47420

20
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59.
4 1915
713 8
318
P 5 X

Yukaridaki tabloda her bir satirdaki ve her bir stitundaki
saylilarin toplami esittir. Buna gore x =?

The sum of the numbers in each row and each column in
the above table is equal. Then, x =?

A)7 B) 8 )9 D) 10 E) 11

60.

3 2 T l—3t+22+13=38

A) 23 B) 25 C) 28 D) 30 E) 32

61.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

21

. O 1s0

A >

B) C

C) N4
D) ¢
E) \/




KTUYOS

62.

63.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question

mark.

©

>
>

€]

| @S
0 | Qoo
R CTT

B)

D)

22

&:}

A) 110 B) 011 C) 101

D) 111

E) 010
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64.

Karelerin icerisine sadece 1, 2, 3, 4, 5, 6, 7, 8, 9 rakamlari
yalnizca bir kez yerlestirilerek asagidaki tablo
dolduruluyor.

The following table is filled by placing the numbers 1, 2,

3,4,5,6, 7,8, and 9 only once inside the squares.

8 - 11 81211
916 — [3|4]9]|-16
6|7 - 18 6(7|5]|>18
ool Vool
17 12 16 17 12 16
2 | x - 16
5 > 21
3 o8 =>x=7
Vool
15 18 12
A)4 B) 6 )7 D) 8 E)9

23

65.
15399511533 -535-105...
a 4, U a,

a, ="
A) 152 B) 190 C) 291 D) 321 E) 413
66.

X=10001001100210031004...10101011...1015

U

S(X) = 1+0+0+0+1+0+0+1+1+0+0+2+...1+0+1+5=82

Y=10001001100210031004...10101011...1030

A) 190

D) 197

U
5(Y)=?

B) 192

E) 199

C) 194
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67.

67-68. sorulari asagida verilen Dbilgilere gore
cevaplayiniz.

Answer the questions 67 and 68 according to the
information given below.

a,b,c€{0,1,2,3,4,5,6,7,8,9}
a+xb+#c,a#0

f(abc) = (axb)+ac+c

Ornek/Example:

£(245) = (2x4)+25+5 = 38

A) 46

68.

A)6

24

B) 44

flabe)=17 = a+b+c="?

B) 7

£(342)=2

C) 42

C)8

D) 40

D)9

E) 38

E) 10
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69.

69-70. sorulari asagida verilen Dbilgilere gore

cevaplayiniz. /:\

Answer the questions 69 and 70 according to the
information given below.

2 = X=7

=

a
b
A) 24 B) 36 C) 40 D) 48 E) 60
a b
a.c b +d
c d
a€
70.
Yukaridaki sekil a, b, c ve d harfleri ile gdsterilen dort'tam
saylyl iceren bazi islemlere goére diizenlenmistir. m
12
The figure above has been organized according to some 48 s
operations including four whole numbers shown with the
letters a, b, c, d. =>Y=?
\i/
A) -1 B) 1 ) L D) E) 4
4 4

25
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71-72. sorulari asagida verilen Dbilgilere gore
cevaplayiniz.

Answer the questions 71 and 72 according to the
information given below.

Sekildeki yapbozun 4 parcasi eksiktir. Bu pargalardan

ikisi seklin sag tarafinda verilmistir.

The four pieces of the puzzle in the figure are missing.

Two of these pieces have been given on the right side

of the figure.

71.

Sekildeki iki parca yerine yerlestirildiginde, 2 numaral

parca asagidakilerden hangisidir?

When the two pieces on the right side of the figure
are correctly placed, which of the following is the piece of

the numbered 2?
A) B) Q) D) E)

72.

Sekildeki iki parca yerine yerlestirildiginde, 3 numarali

parc¢a asagidakilerden hangisidir?
When the two pieces on the right side of the figure

are correctly placed, which of the following is the piece of

the numbered 3?

A)@B)Bﬁ:}hﬁ:}

26
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73.

74.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

1 2 3 4 5 6 7 8 9 10 30
e[S O [¥*[o]*][*[0
ol%[ol*|ol*[o*[0 9
*|olololx|ololofx '
*
A) (O B) %]
* O]
O] O]
o [O] D) |k
O O
*
E) |O
@)

27

214 O
N
e b
N
f} L1
A {

5o, o o
o
Al lo o B)
00 o
o o 0 O
) o D)
o o e
co0o
E)
000
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75.

ANTAANT AN
1. 2. 3. 20.

20. sekilde kag tane lggen vardir?

How many triangles are there in the 20 figure?

A) 23 B) 29 C) 33 D) 39 E) 43

76.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

28

OF-NOA: &

A) & B)

D) O

C)

E)
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77.

Asagidaki sekilde A noktasindan B noktasina gizgiler
lizerinden hareket ederek en kisa yoldan kag farkh
sekilde gidilebilir?

How many different ways are possible to travel the
shortest path from point A to point B through the lines
in the grid below?

A
»

— B
A) 10 B) 12 ) 14 D) 16 E) 18

78.

Soru isareti ile gosterilen sekli bulunuz.

Find the figure shown by the question mark.

A h-dmr-

A) B)

Q) D)

E)

29
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79-80. sorulari asagida

cevaplayiniz.

Answer the questions 79 and 80 according to the

information given below.

79.
X=?
A) 2 B) 6 )8 D)9
80.
Y_,
X
9
A) 4 B~ 05 D)8

30

E) 10

E) 12
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SINAV KURALLARI

EXAMINATION RULES

1)

2)

3)

4)

5)

6)

7)

8)

&

Soru kagitlarini alir almaz, sorularin eksik olup
olmadigini, basim hatalarinin bulunup bulunmadigini
kontrol ediniz ve eksik veya basimi hatali ise
degistirilmesi icin derhal sinav gorevlilerine
basvurunuz.

Sorulari cevaplamaya gegmeden 6nce soru
kagitlarinda ayrilan yere kimlik bilgileriniz ile sinav
bilgilerinizi mutlaka yaziniz.

Sinavin baslamasini izleyen iLK 15 DAKIKA icerisinde
sinav salonunu terk etmenize izin verilmeyecektir.
Sinav salonundan disari ¢ikanlar tekrar sinav salonuna
alinmayacaklardir.

Adaylarin sinavda yanlarinda her tirli ses ve gorinti
kayit etmeye yarayan araclar (CEP TELEFONU, telsiz,
¢agri cihazi vb. iletisim araglari ile goriintii
kaydetmeye yarayan fotograf makinesi, kamera) ve
hesap makinesi bulundurmalari kesinlikle yasaktir.
Cevaplarin “Cevap Kdgidina” isaretlenmis olmasi
gerekmektedir. Soru Kitapgigina isaretlenen cevaplar
gecersiz sayilacaktir.

Sinav siresince adaylarin konusmalari, kopya
cekmeleri ve kopya vermeleri sinav kurallarina
aykiridir. Boyle davrandigi herhangi bir yolla belirlenen
adaylarin sinavlari gegersiz sayilacaktir.

Sinav sonunda her aday, kullandigi soru kitapgigini
cevap kagidini salon gorevlilerine teslim edec
Soru kitapgigi ve cevap kagidini teslim etmey
adaylarin sinavlarn gegersiz sayilacaktir

Sinav kurallarina uymayan veya sinav s
kitapgigini ve cevap kagidini teslim etme

stnav
arin
agidi

sinavlari gegersiz sayilacak ve a rin ce
degerlendirmeye alinmayacakt , bu adaylar
icin Sinav Sonug BelgeshGnme cektir.

1)

2)

3)

4)

5)

7)

8)

As soon as you receive your test booklet and answer
sheet, please check to ensure that there are no
questions or pages missing and that no typesetting
errors are present. If you notice anything missing or a
typesetting issue with your documents, please consult
with test officials immediately to have the
Before starting to answer the questions, pl
sure to write your demographic inforpdati
exam details in the appropriate place
sheet.

After the first 15 minutes of, the
allowed to leave the exami
the examination room,
reenter.

It is strictly forbid ca
of electronic deviceSgit

oW will not be
tio m.’If you leave
ill n e allowed to

idates to bring any kind
ice and photo recording
ile phones, walkie-talkies,
calculators, etc.) into the examination

answers marked in the test booklet will
nsidered invalid.
ing to others and cheating during the exam are
st the exam rules. The examination results of
ose who have been found in violation of this rule
will be considered invalid.
All candidates must return their examination booklets
and answer sheets to the examination officials at the
end of the exam.
The examination results of those who do not obey the
examination rules and regulations and/or return their
answer sheets will be not be taken into consideration
or will be considered invalid. Examination Report of
results will not be issued for such candidates.




